Practice Interpretation: Identify, explain, & place in historical context

Rank & evaluate the following interpretations of the diagram [see handout or Revolutionizing the Sciences, p. 12].  What characteristics make some answers clearly better than others?  What are the weaknesses & strengths of these answers?  Pick the BEST THREE and WORST THREE.

1) My interpretation of this picture gives me the idea of the solar system.  When this was made up, the diagram was showing how all the planets sit.  How far they are from the earth.  When this was created its showing the terrestrial & celestial of the earth . . .

2) This picture is a diagram of what Aristotle thought the universe looked like.  He said that everything rotated around the earth and the planets that were away from the earth were heavens.  In the picture the earth is in the middle and as you move out each planet is named.  He only named the heavens that he could see with his eyes, so not all of them are there.  It was written in Latin.

3) It is Aristotle's view of the universe.  The earth is in the center made up of 4 elements; heaviest being earth, then water, air & fire.  Then outside of that is the aether--or heavens.  The planets are in concentric circles around the earth along with the stars.  The universe is finite & perfectly spherical.  It was important because at the time it was the only idea of how the universe was explained at that time.  The earth's  4 elements made up everything terrestrial & could change from one element to another i.e., liquid to solid, solids burn, etc., but anything celestial could not be changed.  It never changed.

4) This was the philosophers view on the earth & the universe.  They believed the earth was the center as air & fire were the center of that.  As you move out you get each planet and on the very outside is the heavens which circles around.

5) From what I remember it is a diagram of what is placed in order from the earth.  Arostotle's idea of earth is the center of the universe.  It is written in latin.  It is shown since earth is center it stays stable & everything moves around it.

6) The picture is one of the solar system.  It was a model developed during the Aristotelian time of learning.  This, for the times, was probably as accurate of description or picture one would run across during the 1500s.  Technology was obviously not as well developed, but for what they had to work with, this was accurate.  This diagram is centered by Earth and created some discomfort due to its lack of religious ties.  The writing in Latin also lends to where & when this diagram came 

from . . .

7) This is Aristotle's diagram of the heavens.  He is trying to show that the universe is spherical and everything inside it revolves around earth, which is at it's center.  He is showing that the heavens are made of a single element known as "aether" which as the natural motion of circular rotation.  Aether is made up of the 4 elements found on earth: earth, water, air and fire.  When they are all combined they make the single element aether.  He made these conclusions from "experience-based knowledge"  From experience he learned that the elements on earth were different degrees of heaviness and the elements of the heavens were not heavy.

8) Aristotle's model of the universe was a spherical universe with a spherical earth at the center.  This model specified and catalogued all things in the world.  The terrestrial realm was composed of 4 elements.  The first two are heavy elements and naturally descend.  Earth is the first at the center of the universe.  Water is composed of liquid bodies and its natural place is around the element earth.  The next two elements are light elements and naturally rise.  Air is first and its place is above water, with fire above air.  The celestial realm is above these 4 elements and is composed of aether.  The motion in the heavens is circular and they never change.  The celestial bodies are on invisible spheres that travel around the earth with the stars beyond Saturn on the surface of a sphere.

9) The diagram is Aristotle's model of the universe.  He thought the earth was at the center with seven planets revolving around it.  Each being in their own "shell".  After all the layers of the planets, sun, and moon was the layer of the stars.  The historical context of this is the model being used in teaching in the universities.  Like all his other works it started in a small area and then spread as new universities were put in place.  Also being contained in the earth was the four elements: earth, air, fire, and water.  Earth and water being the heaviest so they sit the lowest, and air and fire being the lightest that's why they rise.

10) The center rings are the "terrestrial" properties or the earthly properties.  These are earth, water, air, and fire, going from heaviest to lightest respectively.  The rings further out are what aristotle considered the rest of the galaxy.  First is the moon, then the five planets that are visible from earth with the naked eye, as well as the sun.  The outermost ring is the stars.  Aristotle proposed this in the thirteenth century, and it was considered the best galaxy diagram until the 1700s.  Aristotle explained that while the terrestrial properties are always in flux (air and fire rising, earth and water sinking), the rest of the galaxy (or the heavens) was fixed.  Each layer of the galaxy was supposedly held in an invisible sphere which accounted for their revolutions around the earth.

11) The universe is made with different substances

composed of matter & form

sphere is finite & eternal

Platos universe is divided into two regions

Aristotle earth rest at center,

Aristotle moon made of four elements

Universe in order of planets

Order of planets is different from Ptolemy & Aristotle

Aristotle heavens are together

Standard universe in 1500 modern university

1530 time period

language latin

12) The diagram is basically a big picture of the solar system.  One of the werdist things about this diagram it that earth is in the middle and the sections are plants and the moon.  It starts with the moon and goes in order of the planets out to Satern.  Moon is first and in place of where earth belongs they have the sun.  The only have 7 because those 7 were the only ones they could see with the naked eye.  This is a geocentric solur system.

